SYMBOLIC LOGIC

SHORT TRUTH TABLES

Case 1:  Invalidity in the First Row
EXAMPLE 1:
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(1)   Make the conclusion (K) false, F.
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(2)   Since this makes the atomic sentence K false, write this down.

Strategy:  You want to try to make both premises true.  If you succeed, you have shown the argument to be INVALID.

(3)  
Since there is only one way to make Premise 1 true, start with Premise 1 and put a T under its main connective.
(4)  
Since L and Q need to be true to make Premise 1 true, put a T under each of these (on the left).

(5)  
Since Q is true, ~Q is false. Write it down.

(6)  
These truth values make Premise 2 true, so you have shown the argument to be INVALID.
